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OFXE(15E) A= E2H & 232E X
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O2&=(148) oot 2= WM (L=70m,
B=2m) 15,000, 000& =14 15,000
OAXNE(16E 2 XA FI) &=2=2 & X (L=80m,
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O9s 0t20ot2 otAE M 2I((L=100m, B=3m)
20,000,000& *14] 20,000
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20,000,000& *14] 20,000
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20,000,000& * 14 20,000
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>ol23 47,4003 * 191 %249 11,803
> a2 11,802,600 /12& 43| 3,935
>DFEEsaY 47 ,400& #52F=* 102l 2,465
> A G 47,4003 12 =10l 569
> &M ZAlH| 130,000 *12& 10l 1,560
MR-y u 120,000& 128 =10l 1,440
R ESE= 21,770,400 /12& %10l 1,815
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DEIINAEE 642,000 *6.55% 43
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206 T2 HI 3,750 0 3,750
01 & bl 3,750 0 3,750
OHEZATH 500& 7,000 3,500
QHEBZATH(ZSZTH) 500& x500= 250
SUds HH2F EH| 42,264 38,763 3,501
SUS oHd2HH| 23,636 20,343 3,293
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